Practice
Solving Equations: Solving Quadratics by Factoring or Quadratic Formula

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review
video again.

#1) Solve the quadratic equation twice (use factoring and quadratic formula); x*—3x—10=0
Factoring Quadratic Formuia

#2) Solve the quadratic equation twice (use factoring and quadratic formula): 2x° —9x-5=0
Factoring Quadratic Formula

#3) Solve the quadratic equation twice (use factoring and quadratic formula): 2x* +3x=2
Factoring Quadratic Formula




#4) If the solutions to a quadratic equation are x=-3 and x=2:
a) Is it okay to write the answer as (-3,2)? Why, or why not?

b) Is it okay to write the answer as {~3,2}? Why, or why not?

#5) Solve the quadratic equation twice (use factoring and quadratic formula): & +10a+21=0
Factoring Quadratic Formula

#6) Solve the quadratic equation twice (use factoring and quadratic formula): 2m’ +64 =24m
Factoring Quadratic Formula

#7) Solve the quadratic equation twice (use factoring and quadratic formula). 0=28¢— 21c’
Factoring Quadratic Formula



#8) Solve the quadratic equation twice (use factoring and quadratic formula); x*—2x=11
Factoring Quadratic Formula

#9) Solve the quadratic equation twice (use factoring and quadratic formula): 2x*+7x+4=0
Factoring Quadratic Formula




Answers:

#1)y x=-2, x=5

#2) ,\'=——l-, x=35
2

#) x=-2, x=s
2

#4) (a) No (b) Yes (see solutions)
#5) a=-1, a=-3

#0) m=4, m=38
# ¢=0, c=f~
3

#8) x=1+23, x=1-23
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Solutions:
#1) Solve the quadratic

equation Lwice {use Factoring and quadratic formula):
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#13) Solve the quadratic equation twice (use lactoring and guadratic formuda): 237 1y =2
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RAY I the solutions to a quadratic equation are x =
a) Is it okay to write the answer as {3, 2)7 Why, or why not?
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#15) Solve the quadratic equation twice (use factoring and quadratic formula): & +10a 4 21 =0

“3and v=2:
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Quadratic Formula
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116) Solve the quadratic equation twice (use {actoring and quandatic Tormula): 2m’ 4

64 = 24m
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#7) Sulve the quadratic equation twice (use fuctoring and quadratic formula)
Factoring
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i18) Solve the qlm&lt.tht eyuation twice (use fuctoring and quadratic formula): X7 ~2x =11
Iactaril MoA (_)u:l(lidht Formula
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H19) Solve the quadratic equation twvice (llSL [actoring and quadratic formula): 230+ 7x44 =0
Factoring
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